
Bob Rosati is designing a soup can.  The can will hold 280 mL of soup. The metal for the side of the can costs $0.75/m2.  The metal for the top and bottom, which is thicker, costs $1.40/m2.  The side of one can is one rectangular sheet, while the circular top and bottom is stamped out from another rectangular sheet.  What dimensions of the can will minimize cost?



There are two equations and a side equation.

1.
Surface Area:


Cost:
C = 
2.
Volume:
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Surface Area:
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V = 
Let r rep. the _________ of the can.

Let h rep. the ________ of the can.

1)




2)

Problem:
280 cm3 doesn’t fit with cost/m2, so 



you’re going to have to change to 




cost/cm2.

        
          
Since Cost is to be ____________, and is a function of r, solve for __ in equation 1, and then sub ___ into equation 2.


Now sub h into equation 2 and

the rest is Algebra and Calculus.
